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- (2002, 4 8) T 1k
W : Do you know that Michael Owen has won France’ s foot-
ball golden ball prize?
M:Not a surprise. He has 20 goals this season.
Q:What are the two speakers talking about?
A. A football player.
B. A football team.
C. A football match.
[®7%EMR] C
[EXRBBK] 4= R 2L 5 5 football #= 20 goals, 3%
it C R, KM — A Michael Owen 343 7 R K8 &
Ro A—AW, B2 My, EAKFRFT 2 5,
TR TG E - ANARREH R, MR- —KRILE
H—ARHEA, ‘
[(FHETH] A
2. (2004, 4 @) W7 SAHH
W:Good morning, Mr. Lee. Did you sleep well last night

mmmE 1

—

after your long flight?
M:Good morning. Yes, I did. I feel totally rested and now
I’ m ready for our meeting.
Q:What do we learn about the man?
A. He slept well on the plane.
B. He had a long trip.
C. He had a meeting.
[EFER] A
[ERIBBK] A9F A2 T flight, X H £ KA btk
B REAR, RAMERSFTANE, BEATRB, RE
AxEPEABA Y S trip, 2 R EJe B T = A8,
AREAH TS, ZHAF FLEMBKE, K F3L:Did
you sleep well last night after your long flight? L& 2 1k &
TRkt E# 743, B #3:1 feel totally rested and
now I’ m ready for our meeting. £t 744 2 % = /L Fk,
X T vA%e long flight 44X &%, He had a long trip , Ak /3 £F tH
ERHEE,
[METZH] B
3. (&) U SR
W:So, how long have you been here?
M:Just a couple of days, actually, I am on a big journey.
You know, I’ m traveling all the places of interest

here.

Q:What’ s the man doing?

A. He’ s working in a hotel.

B. He’s visiting a young people.

C. He’s traveling around.

[Z7%EM®] B

[EREABK] AL 155 TR EAN LB
RAGEL, FETZR TG TR LT ¥R Fo )2
#4, 3 ¥ a big journey, visiting F places of interest here &
Rk 8 R4, I 2 AT HI BT R R A RIAA R HiF
—NMFRA"T,

[(XETH] C

What are the speakers discussing about? |
What is the discussion/talk mainly about?

. KBNS R B P IR (S
WRRBE 2 | o HRNE. .5
nigE

1. (2004, 4 ® ) T 141K

M: Great. This supermarket has everything. I hope this
comes to under 75 dollars because I don’t have money
left.

W :That comes to 75 dollars and 5 cents.

Q:How much should the man pay?

A.5 dollars

B.75 dollars

C.75.05 dollars

[E%%EmMm] B

[ZEXKBAK] sTEFERTHAKT, BERI hope

) B

o EEISY o EEERND

= =H
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this comes to under 75 dollars, R & # % , A8 4, % # That
comes to 75 dollars and 5 cents. F 2 JE# 8,
[MEETZH] C
2. (2003, 4@ ) Wy 448
You’ Il be sure to improve your ability to help others
to realize their goals and to deal with difficult tasks on the
difficult conditions. The 12-day program will be in July. If
you like, you can use part of your twenty day paid holi-
days. There’ s no charge for this program. If you’ re inter-
ested, please write your name on this piece of paper after
the meeting. Thank you.
Q:How long will the program last?

A. 8 days. B.12 dz.iys. C. 20 days.
[®5%EM] C
[ZRIBAK] #H+ A if you like, you can use part of

your twenty day paid holidays — &) , T 4k #& i &, KM
AEFTHTBOFTALEN AT BT hieiE, Fis
R4 R H 45T The 12-day program will be in July. 5
#A B ABKF . &K TIAY 5] 12-day program X —4% B {2
EAMBTHANERHEL, Bt F— 28238
HBRAGT AR, A —ZRE,
[METH] B
3. (& B 80) VT Sib R

M:The plane for Chicago left 15 minutes ago.

W:That’s right. Now it’s already five to twelve.

Q:When did the plane take off?

A.12.05 B.11:.55 C.11:40

[Z5%E®] B

[(EXRBRK] AMFZ AR T E, 3BaE
% % 7 The plane for Chicago left 15 minutes ago F= 4 %
Now it’ s already five to twelve, AR 4 & AL 52 3% 2 11:40 A2
T,

[XETFZ] C

tX28

AARE, XFA
Eﬁ%a#%mﬁﬁ

@B

e mE 3

—

- (2004, 4@ ) W7 A3 61}
M:Wow! We’ Il certainly stay here again next time we’ re
passing through.
W:Good. Do let us know in advance. And we’ll try to get
you the same room.
M:That will be lovely. It may be quite soon in fact.
W.Oh. How is that?
M:Well. We’ re driving to the south of Spain in the next
couple of days. And we may come back this way.
W:Do give us a ring if you decide to. I hope you have a
pleasant trip.
Q:Where does the conversation take place?
A.In a hotel.
B. At a booking office.
C. At a friend’ s house.
[E5%E®] B
[ERIMWAK]  xHigeg TR0 K S 0L RITEH, R
AFLEAFE] hotel, T AR 3 AL TIT R4, 54,
Rk 6ERTREYGFF AN oom —3, L L&
¥ % —43k H I T stay here again #= the same room, 5 i%
AEBARIBIX AN B AR BT xR A A,
[FHETH] A
2.(2003, 4@ ) T Sikbkt
W :Morning, Bob. Late again?
M:Oh, I’ m so sorry. I can’t tell you how sorry I am.
W:Hmm. What’s the excuse this time?
M:Ah...

to sleep again. I ..

I must have turned the clock off and gone back

W:Yeah, and last week, one of the children wasn’t well.



M:Yes, L... I know.
W. Hmm.
M:I" m really sorry. I promise it won’ t happen again.
Q:What is the possible relationship between the woman
and the man?
A. Wife and husband.
B. Doctor and patient.
C. Boss and secretary.
[Zi7%M] B
[ERBRK]  #F35 h Bob R B F 3182, @ J6 8 3% 3%
B KR 2|49 excuse #4T, Wit 5t W B Aok B EH
2 R RZATFIBT, Tl 4mif Bob KR 5] 3 30k, %
BRTARRE SR, M LEEANAFEFILF— A%
RREES 02, RAEH B4 F bR W FF,
[XMETH] C
3. (2003, 4 ® ) W S1 b1kt
M:Can I speak to Peter Schmidt?
W :He went out about an hour ago. Can I take a message ?
M:Yes. This is Global Travel. Could you tell him his tick-
et’s ready?
W.OK. I’'ll do that.
Q:What do we know about Peter Schmidt?
A. He has lost his ticket.
B. He is expecting a ticket.
C. He went out to buy a ticket.
[Z7%EM®] C
[ERBIK] HEATECEL2HA.BFEAAT
B2 8 & 4 (this is Global Travel ) %= 37 & % % Peter
Schmidt # /& B ( Could you tell him his ticket is ready?) ,
B KA LK 4 Peter Schmidt is expecting a ticket.
[(XETZH] B
4. (& B8 U7 S1hHH
W :Six airmail stamps and two regular stamps, please.
M: Here you are. That will be one dollar and eighteen
cents.
Q:Where did the conversation most probably take place?
A. At a station.
B. At an airport.
C. At a post office.
(Z7%EM®] B
[(ERBAK] S RAZEED) air, THKEAT LB
45, Bt aFE P H I stamps & one dollar and
eighteen cents %18 Bl % 72 ¥ % ¥ 2 | FF 2L ,AFE R M 5 R
A TRANE,
[METH] C

EAZ EH% R,
|
|
|

s

A 4 BB,

—

- (2004, 4 ® ) W7 F1 416+
M:Did you have a lot of friends when you were young?
W:I didn’ t really make any close friends then, because I
like going off in the morning. And I mean this was on
the school, riding a bike away with a few books in the
baskets and finding a nice place to read.
Q: What did the woman like doing when she was young?
A. Riding a bicycle with friends.
B. Traveling the country.
C. Reading alone.
[E5%EM] B
[ERBAK] AMFFRMGR AL ESHEREHR
3K, R ket B KA R R S R A ALK A M
KRBT, B RAFZT (1 didn’ t really make any close
friends then) , %X J5 /£ % J& — 9 (read ) + 2 R AT E 2k
EH, WRARLEET @Y (riding a bike) /% A %4k fe.
B, FEHLT,
[(METH] C
2.(20Q3, 4 ® ) WT S1 41K
W:Don’ t forget to write to me, Jason.
M:I won’ t. But let me make sure I have the right ad-
dress. Is it 42 Eastdrive Birmingham?
W:That’s right. By the way, my office number has changed

&
%

o EESISN o EESENT

= =H
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Kao shi quan shu
a

< since I began to work at Morrison.

M:.Has it? And tell me what it is, then.

Q:What will the woman tell the man?

A. Her company’ s name.

B. Her new address.

C. Her phone number.

[Zi7EMR] B

[ZERTBK] AME EREHTTrTEF THELS T —
FTHRERGNEA R T RBH GRS, KMRMAH
AR D iE, KRR F S RBE A S X, A right ad-
dress, % /5 % %) office number. st H K&K, E2E A4
MT*%&&‘?%‘%!’]H ERBEN,ERAHANY
#T o

[METZH] C
3. (R4 VT 1AERL
M:How many hours do you sleep a day?
W I need at least seven hours. I try to follow David’ s ex-

ample but it never works out for me.
M:If I sleep during the day, I can never wake up.
W Not everyone has the same as David’s, I guess.
Q:What does the woman suggest at the end of the talk?
A. People should develop a habit like David’ s.

B. People need longer hours of sleep.

R o s A g —

F—W(HS/MEHNELS 53;HR7.55)

Wr T S B s BB R A — AN /ME, A
Bréa i) A,B,C =AMER & RAERD, HAE IR E W
FARLALE . Wrse BB E)a , KA 10 B4 i i [k ]
Kﬁ%/l\@*ﬂlﬁli'l‘-d\ﬁo BB TE L —H

! What does the man mean’?
A. He will not open the window.
B. The window can’t be opened.
C. The window is already open.

~ Which is the quickest way to the airport?
A. By taxi.
B. By bus.
C. By underground.

” Why does the woman want to change the shoes?
A. They are not the right color.
B. They are not the right style.
C. They are not the right size.

What is the woman going to do this evening?
A. Go to dinner.
B. Visit her sister.

C. People have different sleeping habits.

[E5%EM#] B

[EXRBRK] AEAZRERA XBRK T IT R
M, HEERE, X FRFEF-AABE R E—H
BRI, T R FAANBRI WAL —#
7,

[XETZH] C
EOINZET

A BRGSEIEENNA SEMRENEER
@&*%ﬁﬁﬁﬁi&ﬁ:‘cmiskﬁ EEE

g B migﬂ‘hiﬁi!& TR I
 HRE NSRS, ﬁﬂﬁﬂﬁ%ﬁ&ﬁi&
Rﬁh?‘a‘ﬁéﬁ%"**ﬁo A Nﬁﬁ%@%ﬂﬁiﬂ

( %E&ﬁlﬁ*éﬂﬁi&ﬁ%%f %’i m»ﬁt

, z:\ﬁfﬁ #ﬁ?——‘l”viﬁﬁ%ﬂﬁ‘%ﬁo

‘ XRRBEHREARE

i Whatcmweleuuﬁnmwbatthespeak«sud?

| What can we learn from the man/woman’ s reply?

" How does the man/ woman feel shout. .. 7

i What does the man/ woman think of. .

B What will the man/woman pmbably 80 ( ﬁnp

? weekend)')

C. Go to the airport.

What can we learn from the conversation?

A. The woman had a photo shop of her own.

B. The woman developed her photos all by herself.

C. The woman developed part of her own film.
FZTE|MELS ,ER22.55)

Wr T S BOiESME . FEESMEEA L
AN, NI R TR B AL B, C =AM Rk ) BT,
HAERG RPN AL E . VT8 B S H B, R A
1) e Pl B2 251~ /INEL, B/ S BB WT S R L /IR
S 5 BRIl A5 BV B R
6 BAH, AR 6~TH

Who are the two speakers?
A. A doctor and a patient.
B. A teacher and a student.
C. Two students.

Why does the man call the woman?
A. To hand in his roommate’ s paper.
B. To ask for a leave for his roommate.

C. To ask her to see his sick roommate.



FETEMBE . REE8~9M

Where is the woman?
A. At a furniture shop.
B. At a restaurant.

C. At a ticket office.

How many guests will the man treat?
A. About five.
B. About eight.
C. About ten.
KER R L amoky BUEVE. ]

Why is Stella unhappy?
A. Because she can not sleep at night®
B. Because she has made so many mistakes.

C. Because she has quarreled with Mr. Philips.

Who is Mr. Philips?
A. Stella’ s boss.

B. Stella’ s husband.
C. Stella’.s neighbor.

What does Bill suggest Stella do?

A. Talk to the milkman’s wife.

B. Write a letter to the milkman.

C. Write to apologize to Mr. Philips.
FH 9 BAMH, EEE 13~16 M

When does the train leave?
A. Four twenty.
B. Four twenty-five.

C. Four twenty-seven.

How much is the fare for a single ticket?
A. Seventy cents.

B. Seventy five cents.

C. One dollar fifty.

Which platform will the train from?
A.18. B.17. C. 16.

Where will the two people meet?
A. The gate of the station.
B. The entrance to the platform.
C. At the bus stop.

T H 10 BAH, @ AR 17 ~20

What does the passage mainly discuss?
A. Two types of only children.
B. Parents, responsibilities.

C. The relationship between parents and children.

Who are likely to treat their only children as “special

jewels” 7

A. Those who are themselves spoiled and self-cen-
tered.

B. Those who expected to have several children but
could only have one.

C. Those who like to give expensive jewels to their chil-

dren.

Why do some only children become “little adults” ?

A. Because they have nobody to play with.

B. Because their parents are too strict with them in
their education.

C. Because their parents want them to grow up as fast

as possible.

Why do some only children feel unhappy?
A. They have no sisters or brothers.
B. They are overprotected by their parents.

C. Their parents expect too much of them.

EHES T REsagG . B

E—H oW (R, B4 30 4r)
F—W(H5/ME;EMLS H,ERT.55)

WT RS Bt iE. BERXEEAR /R, N
FRE5 19 A B.C =AM bt Y SR AR I, HARFE I B 1)
MR E ., 5B EE , ARERE 10 Bhpbad ik 4
A R/NMERBEE T —/ME . BB EE—E.

What time is Jim supposed to arrive?

A.7:30. B. 8.00. C. 8:15.

Why is the woman moving?

A. The present room is too expensive.

B. She needs a quieter place.

C. She doesn’ t like to listen to the radio.

Where does Tom plan to go on his way home?
A. The bank.

B. The office.

C. The barber’ s shop.

What can we learn from the conversation?
A. They are neighbors.
B. They are classmates.

C. They are not from the same country.

When does the conversation take place?
A. On Friday.

B. On Saturday.

C. On Sunday.
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What class does the girl want to take?
A. Dance class.
B. Language class.

C. Exercise class.

Which class does the girl take?
A. Morning class.
B. Afternoon class.

C. Evening class.

TETERMH, BEE 8~10 4,

Where do you think they were talking?
A. In his house.

B. In a hospital.

C. In an office.

What most probably is Tim?
A. A driver.

B. A worker.

C. A fire fighter.

What does the woman want the man to do ?
A. Not to save anyone any more.

B. To find another job.

C. To change his resting-place.

TH S BAMH, mAR 11 ~13 4,

Who is the woman?
A. A manager.

B. A secretary.

C. A housewife.

Which phone number should the man dial?
A.77231059.
B. 77328905.
C. 77321095.

What is Mr. Smith doing?
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A. He is having a good time with Mr. White.
B. He is calling.
C. He is having a meeting.

T H 9 BAH, mES 14 ~16 M,

What is the relationship between the people?
A. Headmaster and teacher.

B. Teacher and student.

C. Father and daughter.

~ What reason did the woman give for being late yester-
day?
A. She visited her grandfather.
B. She was ill and went to the hospital.
C. Her alarm clock didn’t work and the bus broke

down.

pe—y

{7 What did the woman say about her grandmother earli-
er?
A. Her grandmother was going to have an operation.
B. Her grandmother had already had an operation.
C. Her grandmother was at home.

T H 10 BA M, @A 17 ~20 M,

What did Mr. White think of the second call?

A. That the caller told him a false fact.

B. That the caller told him the details.

C. That he himself was the last person to hear the

news.

jis Why was Mr. White glad?
A. Because many people had known the news.
B. Because he liked his paper very much.

C. Because no other papers but his printed the news.

! What was clear a day later?
A. Mr. White was fooled.
B. Readers liked to read the latest news.

C. His newspaper was full of jokes.

ity Why did Mr. White make a statement in the next
day’s paper?
A. He felt it necessary to do so.
B. He thought himself to be tricked.
C. He only made a joke.

How long does the man spend traveling to work?
A. 15 minutes.
B. 30 minutes.
C. 45 minutes.



Why was the man late?

A. His car was out of petrol.

B. He couldn’ t mend his car.

C. He had to go back for clean clothes.

What is the probable relationship between the speakers?
A. Friends.

B. Boss and secretary.

C. Teacher and student.

Where does the man want to go?
A. The police station.

B. The city library.

C. The supermarket.

Which of the following can we know from the dialogue?
A. The woman is going to have a trip this summer vacation.
B. The woman is going to stay at home this summer vaca-
tion.
C. The woman hasn’ t decided how to spend the summer
vacation.
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What does Tom usually have for lunch?
A. A cup of coffee and some chicken.
B. A sandwich and a cup of coffee.

C. Sandwiches and some fruit.

Why doesn’ t he want to eat anything for dinner some-
times?

A. Because he wanted to lose weight.

B. Because he is too tired.

C. Because he has no time.

Where does the conversation most likely take place?
A. At Tom’ s home.
B. In the street.
C. At the doctor’ s office.
TETEMA ESI~11 &,

What is the woman planning to do this evening?
A. To see some Americans off.
B. To visit Bob.

C. To have dinner with some American friends.

What’ s wrong with the man?
A.He’s taken a couple of aspirins.
B. He’ s forgotten the date.

C. He’ s got a headache.

Whom is the man going to write to?

A. His American friends.

B. His parents.
C. His girlfriend.

FE S B, MER 1214 4,

What is Mr. Carson doing when Mr. Prince calls him?
A. He is having a talk with his customer.
B. He is having a meeting right now.

C. He is out instead of having a meeting now.

What’ s the number of Mr. Prince’s telephone?
A. Hong Kong — 68261427 extension 4063.
B. Hong Kong - 68261427 extension 4037.
C. Hong Kong - 68261427 extension 4036.

When can Mr. Carson ring Mr. Prince according to the

woman?

A.He’ Il ring Mr. Prince as soon as he returns from
lunch.

B. He’ ll ring Mr. Prince as soon as he returns before
lunch.

C. He’ ll ring Mr. Prince as soon as he goes away from

lunch.

T HEIBMA, EEL 15~17TH,

How did the woman come?
A. By train.

B. On foot.

C. By bus.

How long had the man been waiting for her?
A. Nearly an hour.

B. More than an hour.

C. About five minutes.

Why didn’ t she tell her boss about her appointment
(A2)7

A. Because she thought the work wouldn’t take long.
B. Because she thought the work wasn’t hard to do.
C. Because she didn’ t think the boss would let her go.
10 AR, @ 2% 18 ~20 &,

How many people became homeless as a result of the
storm?

A. Over two hundred.

B. Over fourteen.

C. About fifteen.

Where were Mr. Smith’ s children when the storm star-
ted?

A. In the rooms.

B. In the kitchen.

C. In the yard.

Why did Mr. Smith go back inside their house?
A. To get his missing child.

B. To get some food.

C. To get his possession.
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What are they going tq do this weekend?
A. Go swimming

B. Go shopping.

C. Go skating.

What does the man ask the woman to do?
i A.To go to a concert with him.
B. To help him with his paper.

C. To visit him tomorrow.

Where does the woman want to go?
A. The police station.

B. The city library.

C. The supermarket.

What is the most probable relationship between the
speakers?

A. Friends.

B. Boss and secretary.

C. Teacher and student.

Where did the woman expect the man to be now?
A. In Europe.
B. At home.

C. On campus.
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What kind of car does the woman want?
A. A new car.
B. A second-hand car.

C. A cheap car.

What happened to the woman’s car?
A. It broken down.
B. It was stolen.

C. It was given to her son.

Kao shi quanshu' g Tt MAS 8 ~104
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What are they talking about?
A. Children.
B. Vacation.

C. Jobs.

Will the man take a vacation this summer?
A. Yes.
B. No.

C. He isn’ t sure yet.

What do you know about the woman’ s two sons?
A. They are on vacation now.
B. They are both in college.
C. They will graduate next year.
FH 8 BAE, AR 1 ~134

Why did the speaker go to a café?

A. Because he felt thirsty.

B. Because he felt tired and wanted to sit down.
C. Because he had plenty of time.

What was in the speaker’ s case?
A.Men’s clothes and scientific papers.
B. Picture’ s books and children’s toys.
C. Nothing.

What did the speaker find out on board the plane?
A. His case was lost.
B. He took a wrong case.

C. There were children’ s toys in his case.

P E O BEAE,BAE 14~16 #

How are his wife and children when Mr. Brown comes
back very late?

A. Waiting for him.

B. Staying up.

C. Asleep.

Why couldn’ t he come into the room himself one
night?

A. He lost his work.

B. He couldn’t find the door.

C. He didn’ t find his key.

How did he get into the room at last?
A. He pretended to. call like a child for the bathroom.
B. He went through the bathroom.

C. His wife was woken up by his shouting.

FFE 10 BAE, BER 17 -20 4

What kind of person is the speaker?



A. He is very careless.
B. He is usually careful.
C. He is easy to get angry.

When did the man most probably lose his wallet?
A. When he was having dinner.

B. When he walked into the restaurant.

C. When he was ordering his dish.

Why was the man in a hurry?

A. Because he had to meet his doctor.
B. Because he wanted to report to the police.
C. Because he had to go to the bank.

What was the man’ s biggest worry?

A. He lost his ID card.

B. He couldn’t pay for the dinner.

C. He got a lot of people included in this problem.
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What do we learn from the above dialogue?

A. Frank continued to live after a car accident.
B. Frank’s car was accidentally lost.

C. Frank fell out of a car.

What can we conclude from the above dialogue?
A. The exam was difficult for the woman.
B. The woman found the exam easy.

C. The woman completed the exam in one hour.

Who might these two speakers be?
A. Parents.

B. Two friends.

C. A parent and a child.

When does the film end?
A. At 9:50.
B. At 7:50.
C. At 8:50.

What can you learn from the dialogue?

A. The man will have to return the book to the woman.

B. The man has already returned the book to the woman.

C. The man will keep the book for some time.
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How is Jane going on a trip to London?

A. By car. B. By air. C. By taxi.

How many people will go to see her off?
A.3. B.2. C. 1.

What can we conclude from the dialogue?

A. The man met Thomas Nelson through Jane.

B. The man and Thomas Nelson studied in the same col-
lege.

C. The man played football against Thomas Nelson’ s

team.

How long will the man spend with Jane next Saturday?
A. About 2 hours.
B. About 40 minutes.
C. About 20 minutes.
T BAMH, EER 10~11 M4,

What does the man want to do?

A. He wants to borrow some money from the woman.
B. He wants the woman to find a job for him.

C. He wants to retun home with the help of the

woman.

What’ s the result of the dialogue?
A. The man found a job.
B. The man returned home.

C. The man borrowed some money from the woman.

FrF 8 B, MEF 12~14 4,

What is the relationship between the two speakers?
A. Close friends.
B. Customer and mechanic.

D. Customer and saleswoman.

What happened when the man was driving?
A. The car suddenly stopped.

B. The car ran down the hill.

C. The car suddenly caught fire.

What’ s probably wrong with the car?
A. Something’ s wrong with the battery.

B. It runs out of petrol.
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